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Operations with Vectors in <a,b> Component Form

Given scalar « and v = {z,b)
v = {oa, ob)

= v =(1,4)

Given scalar « and v = {z,b)
v ={oa, ab)

= v =(-2,-3)
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Given v = {11,b1) and w = (15,b>)

v +w={a +a, b1+ by)

v={53) w={(14)

< . 4 >
\ 4
A
Given v = {11,b1) and w = (15,b>)
v +w={a +a, b1+ by)
v=(72) w=(33)
< . 4 >
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Operations with Vectors in <a,b> Component Form
Pao 2



Given v = {11,b1) and w = (15,b>)

v +w={a +a, b1+ by)

v={(3,-8 w={(9,1)

< . 4 >
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A
Given v = {11,b1) and w = (15,b>)
v +w={a +a, b1+ by)
v=(72) w=(33)
< . 4 >
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Operations with Vectors in <a,b> Component Form
Pao



Given v = (2,-5) and w = (-4,3)
find the following.

v+ 2w

A
4
\ 4

Given v = (2,-5) and w = (-4,3)
find the following.

V + W V—4W =0V + -4W
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Operations with Vectors in <a,b> Component Form
Pao A



Given scalar « and v = {1,b)
= (4, ab)

Given v = (11,b1) and w = (15,b)

+w = (a1 + as, b1 + by)
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Operations with Vectors in <a,b> Component Form
Pa B



